MFM2P-LINEAR SYSTEMS UNIT 3 — DAY 3 - NOTE DATE:

SOLVE AND INTERPRET LINEAR SYSTEMS...BY GRAPHING

Example:

Galaxy Video rents a game machine for $10 and video games for $3 each.

»4{£‘?f"f Video rents a game machine for $7 and video games for $4 each.

a) Write an equation to represent the cost of renting one game machine and video games at
each store. Define your variables.
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b) Create a table of values for each equation. (Use a maximum number of 6 video games.)
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Example
1. Each graph compares the rental costs of two halls. For each graph:

i) Describe what the point of intersection represents.

ii) For how many guests is each hall cheaper? Explain

a) Hall Rental Costs b) Hall Rental Costs
T ‘/, 4 ’
15000 13’0 4500 /’/L . 25000 //
. o v,
7 4
4-000 . 20-000 . .
p ]
’ 240718/000)
£ 300 Hall D,/ < 15000 FaL )
b7 A7 + HallF |/
& ’ Z L2
d 71 < .
20002 -4—ted b L Lol LS ~-110-000 S 4
” i SR 7 /
1000]— 000 H4ILE
18 i /—i
............ ya H[all C ya
Vs /
0 100 200 0 200 400
N -mlhe —nf—G uests N ~mheir~nlf-C—uetst~s
| | |
=N | SS6 Ny 0 S +Hae o Hells ’ : . =
D By VDo Qe sts, +he Tvwo Tells ) AY . QU0 QuesTS, +he o hedls
Cosy +ne Same 4o rent Cos+ +he same T rent.
Ul PR | = N als N —_ N . 2= = iV
1 } ,‘L."\: wundoex Puls é\_{l\_@ &:\-\g C.:—\.—\;-Qr‘vL CL Py _../,L\_ L,L"LC"\_Q ~ /J_L o \L‘!‘\,L_LE ;”;'; C\;i“}'c”',f.}", 4
Fal C s cheaper -— Hroe hne Het £ s Chua Eer -- The [(ine
¥ g Lo - i e r-Cuioh
S \Owvve o A\t .3({&{;,1 ' S oW er 578 W Ne \)f‘_, ‘DL-
LE over SO auasts ader S T over 240 Guests aHend,
A
\ e |\ _— & il 8 ~ P
ey T 15 e cipe el T S Chea P

2. This graph represents the costs to produce and sell pizza. Graph A represents the daily
cost to produce pizza. Graph B represents the daily income from the sale of pizzas.

a) Describe what the point of intersection represents .
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